
Add how much time Cayla spent on Monday ( 4 8/9 hours) to what 
she spent on Tuesday (3 5/6 hours)

Subtract how much Erick cut from his plant (3 1/6 feet) from how

tall the plant was when he bought it (4 1/2 feet)

Determine how many 1/7th tons are inside of 6 tons, by dividing how much

fish food they had (6 tons) by how much they use each month (1/7th of a ton) 

 Divide the bag of cat food (1/5th of a bag) between 4 cats.

Multiply the number of pages per student

 (7 1/2 pages) by the number of students (24 students) 

Add how much Caleb played minecraft (20.36 hours) to how much Noah

played Minecraft (25.28 hours) to how much Victor played Minecraft (27.82).
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